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PN E =y 66,8003 * 123%H » 6 49,299
-gg2R4g
66,8003 = 50% » 123%H » 54 221,843
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01 = LH o4 1l 3,400 4,000 A 600
Ot AL = AL EZ (I 1,000
OdEEsHLR F& ¢l 2,400
302 Ol THoH 2 &F = 1,000 1,000 0
02 QIZHAITHOH R EFESE A= 1,000 1,000 0
O&tEDo AL &l Ba3 1,000
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< 9,706
Al 22,648
OAURMHHEESYE & 32X (300ha) 19,800
= 17,730
< 621
Al 1,449
OAURMAESY X4 2H(100ha) 8,139
= 6,207
< 580
Al 1,352
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< 8,505
Al 19,845
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= 140,000
< 18,000
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03 AIE 2 THHI 4,000 4,000 0
OAUSTHAEY YA 4,000
= 2,800
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Al 840
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Al 2,100
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< 1,031
Al 2,406
OJIEtai & Xl &2 Al (25ha) 4,616
= 2,410
< 662
Al 1,544
OJIEtHall XA 2HHl (3ha) 3,006
= 1,503
< 450
Al 1,063
03 AIE 2 THHI 1,000 1,000 0
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—SHAMEHH 2RI KB AKX E M2
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—MAERFE X XE AE 3 =F
70,000& = 79H 490
401 A& HIZ 201 I 20,000 10,000 10,000
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Al 15,713
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